'%*UGE Eﬁ%%tfﬁ %ﬂi’ﬂ( %%%ﬁ%ﬂ&’lﬁ(ﬁéﬁ)
1. ARIRERR 2. $i!&0)§= -CE Y R F EAK R BESEE
@ %&u % /iE\A El?. % [Eiette YN $l§ 73 $l§ g b 1@ E\_‘g 55 7%"‘ ﬂg’ {%ﬁ‘ ﬁEZ ‘J:% % J:t
H 65 5 || B ST | oy | il b i 7 o | 3
NS BEH | A BE TP AR BE | A B BE T SHE i‘a’e * & .
1 1 1 1 1 1 1 ERY (%% B o BIEOE M Tk o R®WE R
2 1 2 1 2 3 4 -2 IR % 1 1 1100.0
3 1 1 1 3| -2 4 6 1 5 1| 16.7 ) ) 1 ik
4 1 1 4| -3 1 7 2 7 14.3 R R
5 1 1 5 -4 1 8 5 12| -4| 12.5 Es Y
6 1 6 2 14 B )
7 3 9 5 19 H H
8 1 10 2 21 i
9 10 21 7L —
10 10 21 H 1]
11 1 11 2 23 faf
12 | 326 Z O {h
* RS }f‘%ODBEOD#@i 2ahx. £ KB OFEE 2k 1 1 100.0
% BRI, A EOBED AIZHBT HRIE L OEFFR LTV D ke #[100.0 100. 0
3. IEDEHEANFEEKR 4. FFEMN-TEOESNSEHERR 5. BIFHEICLHRS 6. EEAICLZES
T F O N B X5 T H DR NI xS HIA | NE bR I PN R
B - SRR ) )- M E R TR + K T = 1~9 1 100.0 2 0 kAT
&R & B FE L OFH AR T OF 10~19 20~29
B2 O oS T3 1 100.0 Z Do T8 20~29 30~39
/7 B 1 100.0 + K LT =+ 30~39 40~49
F F K B T = ICO N T 40~49 50 AT gt
i - N Z DD T 50~ 50~5 1 100.0
K|ZoMm o+ KT HF s + K T = =} 1 [100.0 6 0Ll I
/N il FO| R g T x T4 OFED TZ0OM] 50 VL B 1 100.0
ZF O fh o R T F & Z Dt T 5% . FFELTh RN B 1 100.0
& 7 1 100.0 w1 AL HE
A Bl B T OH
| 2 ofho T 7. BRIRERE i}
T K T = — 5 W g B BHE R R
B R & 4 T =F 1 1 100.0 WA 1 1
ZF Do T8 HijAE 2 1 2 5
< Dt ] 1 2 -1 2 —4
Z 1 0.0 WEER] 2 3 1 2 4 12

* [Zoff) 1&, FE L TR LARnERITHI

* THTAR) 13 MRYAE ) & RIRE,

TEEAERT ) I3ATAE 1 AR ORI




